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QUESTION 1

What are three tiering policies that are associated with a FabricPool-enables aggregate? (Choose three.)
A. backup

B. mirror-vault

C. local-only

D. auto

E. snapshot-only

Correct Answer: ADE

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
psmg%2FGUID149A3242-B120-49CB-B712-BDDED53ED25D. html

QUESTION 2

You are configuring an FC switch to allow LUN access to a host system.

In this scenario, a switch needs a zone configuration file that includes which two elements? (Choose two.)
A. host initiator WWPN

B. SVM target WWNN

C. host initiator WWNN

D. SVM target WWPN

Correct Answer: AD

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.exp-fc-
cpg%2FGUID3DCDO06E4-6B78-4C3D-8476-19FDAQEDE77A.html

QUESTION 3

What is the purpose of Epsilon?

A. to monitor cluster health

B. to be used as a load-balancer for a 2-node cluster
C. to evaluate the differences in node configurations
D. to be used as a tie-breaker for a cluster quorum

Correct Answer: D
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sag%2FGUIDEFE1DEF4-8B87-4C4A-8E4E-C6C79F760710.html

QUESTION 4

Click the Exhibit button.

Cluster dst::> snapmirror policy show -policy XDPDefault —instance

Vaerver:
SnapMirror Policy Mame:
SnapMirror Policy Type

Policy Cwner:

Tries Limit:

Transfer Priority:

Ignore accesstime Enabled:
Transfer Restartability:
Network Compression Enabled:
Create Snapshot:

Comment:

Total Number of Rules:

Total Eeesp:
Rules:

An administrator realizes that daily snapshots are not being replicated to their destination. The

wval
XDPDefault
vault
cluszter—admin
2

normal

false

always

false

false

Default policy for XDP relationships
rules.

2

59

SnapMirror Lakbel Keep Preserve
daily i false
weekly 52 false

with daily and weekly

Warn

a
a

Schedule

administrator can see the daily snapshots created at the source. The exhibit shows the policy in use.

Weekly snapshots are being replicated without a problem, and the SnapMirror relationship is showing as

"healthy".

In this scenario, what is causing the problem with the daily snapshot?

A. The SnapMirror label has not been applied to the daily snapshots.

B. The SVM peer is not working.

C. The daily snapshots at the source are busy due to the NDMP backup.

D. The vault policy applied to the source volume does not match the SnapMirror policy at the destination.

Correct Answer: B

QUESTION 5

Click the Exhibit button.
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'IPspace Vserver List Broadcast Domains
Cluster
Cluster Cluster
Default
svml, svmZ, Default
clusterl
IPspacel
SVM1aA, SVM2A, IPspacel
IPspacel
SVM2a, SVM2B, IPspace2

You execute the clusterl::> network ipspace show command, and notice that two IPspaces are not able to
be renamed or deleted.

Referring to the exhibit, what are these two IPspaces? (Choose two.)

A. IPspacel

B. Default

C. IPspace2

D. Cluster

Correct Answer: BD
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